EARAROBEEIERT — 2 N— IBISH —F

201458 1H (K) 3EE&HE4R

Ol 3RS Yo% 3% ‘ [%2] % ‘ [BeErm] — | 4 () 14000 E
[A&4)]1%:380,00 M ~ 2#%&:69,00M ~ 3#%&:27,000M  4#%:19,000H / 5&%:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 o | RAXTINHIVE f 3 gz?gﬂﬁfﬁ 1:(2_9).4 1-1-1-1 | 38.4| — | 1 | 450 igg;ﬁ(%ﬁ&)
RTFIXAFIEN B IFRIOLTAT @) | Eo 5Ly kor—i
Q - = [iE] B &R :30. =P . - AHEL (BHE)
2 6 NI—F 4TS % 3 o 1 (340)2 2-2-2-2 | 39.1 2 (4_767) it
R:F4—T2h4 B:FTUEY b WHE IE
NRGTN . KIAHEE : —4-3- — HFLE— (BEE)
355 | ¥rtErTUUL i 3 Pl 1(.33/%3 3-4-3-3 | 38.9 3 <4+337) his (
QAL YamFLYy BRIINK— BEHIS
SHEA . 3.3 — BARK (BHE)
al1li| F=FmzoL—0 3 | SHE 1.(371).7 4-3-3-4 | 40.2 4 ;1_570) pAngca
RiTH L INRry b B h—kTITY "e =h
N FEREEAR : 55— — BrB—A (BHE
5 3| #IRFUTcI i 3 e 1(731@7 5-5-5-5 | 40.0 6 (zg) m;&g (BHE)
RR—NFRHPLF— BTy b—F1F> TR—-Y—T5—L
=5 it 3 | RIRFMAER 1:32.2 6-66-6 |39.6| — 5 4 | REL— (BEE)
cys| 21— F773> 54.0 2 1/2) 1) | B F=2r7
Lix4avf—5— B:ILHLZXTY— RS
® 1—F—@EBIERL
1T=7r= 2,6,5,1,3,4
2a=5F= 2,6,1,5,3,4
Ja=7= 2,6,(1,5),3,4
43—+ — 2,6,5,1,3,4
[ /N
B OB 2 160 | | 74 K 2-6 100M B & 2-6 120/ &R 2-5-6 130M
B B 2 110 2=l 120 B H 2-6 160H 3B 2-6-5 240M
6 110M 5-6 120H

ABICOVWTRDTEEERROODE. TR LIV,




